/DVIRB

3UDFRZQLN 5RINaDG  GU /HQLN 6WDQLVADZ 7\J

7\J 7\J 7\J
> (I\ND JDZRGX GU /HQIN = HINLH VIUXNIXU\ SQIRSRIRILD NXIXURZD G
T 6IDQLVIDZ =% )+ VSRiHF]QH GU /HQIN U /HQIN BIDQLViDZ =%
5 $.6/ & 6IDQLVIiDZ =% )+ )+$.6/ =
= $.6/ &
0) 7N\
I 7N
8 SQIRSRIRILD NXIXURZD G
0 = [HINLH VIUXNIXUN U /HQIN BIDQLViDZ =%
VSRIHF]QH GU /HQIN D)+$.6/ =
6IDQVIDZ =% D+
$.6/ z
=
n
7\J 7\6]
+VIRUD LGHL L [QZHQINND
+VIRUD LGHL L [QZHQINND GU /HQIN 6IDQLVIDZ =%
a GU /HQIN 6IDQLVIDZ =% )+$.6/ =
D) )+$.6/7/ &
x
2 7\
+VIRUD LGHL L [QZHQINND
GU /HQIN 6IDQLVIDZ =%
I)+$.6/ =
—
(5]
=
™
a) 7\6]
o 3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRi GU
g:J /HQIN 6IDQIV:DZ =% 2)+%$"05 =
> aDG PHGIDIQ\ D VSRiHFJHEVIZR (QIRUPDF\IQH
7\6]
3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRi GU
/HQIN 6IDQIV:DZ =% )+$"05 =
aDG PHGIDIQ\ D VSRiHFJHEVIZR (QIRUPDF\IQH
% Gl
=3 3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRi GU
% /HQIN 6IDQIV:DZ =% )+$"05 =
ol aDG PHGIDIQ\ D VSRiHFJHEVIZR (QIRUPDF\IQH

7\6]

/HQIN 6IDQLViDZ =% 2)+$°05

3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRi GU

aDG PHGLDIQ\ D VSR:HFTHEVIZR LQIRUPDF\IQH




/DIRB
3UDFRZQLN 5RINiDG  GU ZHQLN 6WDQLViDZ  7\J

7\6]
3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRé GU
/HQIN BIDQIVIDZ. =% )+$"05 =

aDG PHGLDIQ\D VSR:HFTHEVIZR LQIRUPDF\IQH




